p? [GeV] 0-15 1545 45-85 85-125 125-165 165—c0
ggH 73+3 175+5 59£3 15+2 51+15 49414
XH=VBF+VH 4+2 15+4 16+4 8§+2 38+11 3.0+038
Out-of-fiducial 9.2£05 199+0.7 114 +£0.6 44+03 16+02 24+02
Data 2182 5305 3042 1263 431 343
Total background 2124 £128 51704321 2947 £293 1266175 420+80 336£74
WW 1616 £107 3172 £249 865 £ 217 4214+£120 125+60 16154
Top 184 + 38 1199 +£165 1741 £192 735+125 243+51 139+49
Wjets 134 £5 455 +10 174+ 6 48 +4 14£3 9+£3
WZ+ZZ+VVV 34+4 107 =10 71£7 29+5 14+3 13+4
Z/v* =ttt 23+3 67 £5 47 +£4 22+3 12£2 10£2
Wy (*) 132 + 49 170 £ 58 48 £ 30 12+9 3£3 5£10




